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= 5,000
Al 5,000
=o0Ing 48,646 34,300 14,346
2 13,623
Al 35,023
201 Y2l 26,866 18,300 8,566
2 7,933
Al 8,933
01 ARl 26,866 18,300 8,566
0 2DBFAM 26,866
O Yersg| 26,866
MY 52 TS DR 5,008 * 2005 * 163 16,000
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2A: sEXNET W
M sEXNCE sHIFHH2AG
ool =oE2oleiors chel &
SN EY O (BH) - MR - Ba= Aol Bl =2t
01l &
301 2et2 A3 = 700
Al 700
10 AIAHIEAZ 1,400 0
O =202 XA 1,400
O sEXNERN s =4 7,000& » 2009 1,400
= 700
Al 700
SEXNEN S BEIX&A 6,540 6,540
& 1,962
Al 4,578
307 Q120 & 6,540 6,540
= 1,962
Al 4,578
04 QIZHHAIE X 6,540 6,540
O SHIX & A 6,540
O s=XN&X SU3 Edl X3 6,540,000& = 14 6,540
& 1,962
Al 4,578
StMA-H3| A HHES K& 4,000 4,000
& 1,200
Al 2,800
206 M= Hl 4,000 4,000




M sEXNED
o SENCR SUEMAS
ol SelEeoleory (e @
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
206 M=l = 1,200
Al 2,800
01 &bl 4,000 0 4,000
O SHIEXZAS 4,000
O &tM4-H 3|3 WHESKH 2,000,000& = 292 4,000
& 1,200
Al 2,800
SEMEINH 379,640 364,934 14,706
= 69,000
s 25,000
& 33,375
Al 252,265
SHASZINLHO|EHI XA 50,000 100,000 A50,000
s 25,000
Al 25,000
307 gI2told 10,000 0 10,000
= 5,000
Al 5,000
02 QItFAE X 10,000 0 10,000
O 2E2X A 10,000
O sXHSZMHEHOIZHI X 10,000,000& = 1Jf A 10,000
s 5,000
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X XH .
o Tt

SRk

sEX T

sEXNE=2

ST

m
0
F]
o

100,000& = 103

1,000

CERI(EI) - MR A Atol e =32t
Al 5,000
402 40,000 100,000 260,000
i 20,000
Al 20,000
01 40,000 100,000 260,000
0 =288 40,000
SHEAMAEHOIHEI XA 40,000,000& = 1024 40,000
g 20,000
Al 20,000
3| = 5t 21,000 23,032 N2,032
307 16,000 20,000 A4,000
02 16,000 20,000 24,000
] 2,000,000& = 8IHA 16,000
402 5,000 0 5,000
01 5,000 0 5,000
] 2,500,000& * 20HA 5,000
SEMENE JsE3 59,390 69, 150 N9,760
201 6,900 5,150 1,750
01 6,900 5,150 1,750
O 4,000
ANHLE WM 1,000
S=AF E=IH A 100,000& = 104 1,000
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A sENZL

M SENCR soAMAL

G SEMEINA (et &2
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
[0 SHIEXZAIE 4,000
O sE04d2gl|s & d2)|Isus Mz ¢ 200,000& * 203 4,000
= 1,200
Al 2,800
sELossEsaz Ny 2HIA 10,000 3,000 7,000
= 3,000
Al 7,000
307 QIz2to| A 10,000 3,000 7,000
== 3,000
Al 7,000
02 0I2tZAY X 10,000 3,000 7,000
[0 SHIEXZ ALY 10,000
O sELd=z28sTz JH2AIA 5,000,000& = 2004 10,000
= 3,000
Al 7,000
SEFNUX 22E 2AIE K& 15,000 0 15,000
= 4,500
Al 10,500
402 QI2ENHE201 N 15,000 0 15,000
& 4,500
Al 10,500
01 22 EX 15,000 0 15,000




A sENZL

M SENCR soAMAL

Crol: S EME ) (cre): & 2
SN BB SRA(3) - MEAY - B 0 &t o4 e HRE2

O SHIEXZAMZ 15,000
O SZuuUX 228 2A4 N 15,000,000& * 1JHA 15,000
& 4,500
Al 10,500

SEME AU A 2 10,000 0 10,000
& 3,000
Al 7,000

201 et 5,300 0 5,300
L= 1,590
Al 3,710

01 At 2teld] 5,300 0 5,300
O SHIEXZAMZ 5,300
O sEAMY AU WA 28 2ZAt 212,000& * 253 5,300
= 1,590
Al 3,710

206 M=l 4,000 0 4,000
& 1,200
Al 2,800

01 THZ= 4l 4,000 0 4,000
O SHIEXZAMZ 4,000
O sEAMZE AHIX Ba 298 Hz7Y 40,000& * 100¥ 4,000
= 1,200
Al 2,800
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2N
X{ XH -
S Tt

el

sEX T
sENEZ =283

SEMEHM

m

0
r
0

2. R () - NI AL

0x
i

e

P
2

2A

R

J2H
0l
oy

100,000& =103

n

Al

1,000
300
700

206 M=l

in

Al

5,000
1,500
3,500

5,000

10,0002 * 208| * 259

H

Al

5,000
5,000
5,000
1,500
3,500

5,000

301 Letal

in

Al

2,000
600
1,400

2,000

H1

Al

2,000
2,000
2,000

600
1,400

2,000

H

Al

100,000
50,000
50,000

100,000

20,000

20,000




SN SEXED

M SENCR soAMAL

ol SEMENM (Bl mg)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
201 B3| = 10,000
Al 10,000
01 At 2teldl 20,000 0 20,000
O =202 XA 15,000
O gBt=ZH| 15,000
SESAIRS ML} 20,000& * 5005 10,000
= 5,000
Al 5,000
SESAAS el 3,100& * 1,00004 3,100
= 1,550
Al 1,550
SESAAS HE HE 300,000& * 53 1,500
= 750
Al 750
SESANAZ} B9 50,000& * 8& 400
= 200
Al 200
O =202 XA 5,000
O 284 5,000
SHEZA K3 2 A 250,000& * 202| 5,000
= 2,500
Al 2,500
202 Oidl 2,000 0 2,000




A sENZL

M SENCR soAMAL

ol SEMENM (Bl mg)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

202 (4| = 1,000
Al 1,000

01 =3LHAHbI 2,000 0 2,000
O =202 XA 2,000
O &34 I3 A& 80,000& * 253| 2,000
= 1,000
Al 1,000

206 M=l 6,000 0 6,000
2 3,000
Al 3,000

01 =4l 6,000 0 6,000
O =202 XA 6,000
O &34 N3 MHa+ 303 » 10,000& * 2098 6,000
= 3,000
Al 3,000

207 HFOHEHI 10,000 0 10,000
= 5,000
Al 5,000

01 ¢E9l 10,000 0 10,000
O =202 XA 10,000
O EEsA NF3 Y =49 10,000,000& * 14l 10,000
= 5,000
Al 5,000




A sENZL

M SENCR soAMAL

ol SEMENM (el mel
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

301 LptBAaz 5,000 0 5,000
= 2,500
Al 2,500

10 dAIAMHIEZ &S 5,000 0 5,000
0 202X AY 5,000
O SESA UJsh HE 80,000& * 103l * 49 3,200
= 1,600
Al 1,600
O &34 IHEs s g4 5,000& = 36F =103l 1,800
= 900
Al 900

307 QIZtolA 7,000 0 7,000
= 3,500
Al 3,500

04 GCIZtHAE X 7,000 0 7,000
O = 02X ALY 7,000
O SESA U3 SAEAS Bx 7,000,000& = 14! 7,000
= 3,500
Al 3,500

402 SI2HX+E0IHE 50,000 0 50,000
= 25,000
Al 25,000

01 2ARE2EX 50,000 0 50,000




D SEXNE D
P EENC2 S Mes)

O H O o S

D S EMENM chol &
SN EY O (BH) - MR - Ba= Aol e =2t

O = 02X AY 50,000
O EESA N3 AHEFA 50,000,000& = 1JH A 50,000
= 25,000
Al 25,000

H=St sESUSI| ZTZHEAY 10,000 10,000
& 3,000
Al 7,000

307 2IZtol& 10,000 10,000
= 3,000
Al 7,000

02 QltFAEX 10,000 10,000
O SHIEXAY 10,000
O Y=StsZ=US)| ZZHE AHY 10,000,000& = 1Jf A 10,000
& 3,000
Al 7,000

ZMEHZoZ A AlE 10,000 10,000
& 3,000
Al 7,000

207 A IoH 10,000 10,000
< 3,000
Al 7,000

01 ¢7E9H| 10,000 10,000




A sENZL

M SENCR soAMAL

ol SEMENM (el mel
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
O SHIE XA 10,000
O =sZEMdE lZdZ A A" 29 10,000,000& * 14 10,000
= 3,000
Al 7,000
A2S2NE SEEANE 25,000 0 25,000
& 7,500
Al 17,500
402 RIZ2HXE0IA 25,000 0 25,000
= 7,500
Al 17,500
01 QIZERI=2E X 25,000 0 25,000
O SHIEXAY 25,000
O ASE HE SZgy 25,000,000& = 104 25,000
& 7,500
Al 17,500
SAMESHAXA AIHALS 38,000 0 38,000
= 19,000
Al 19,000
402 2I2HXE201 A 38,000 0 38,000
= 19,000
Al 19,000
01 QIZEAI=2E2 X 38,000 0 38,000




A sENZL

M SENCR soAMAL

Crol: S EME ) (cre): & 2
SN BB SRA(3) - MEAY - B 0 &t o4 e HRE2
O = 02X AY 38,000
O TANME=AXH NEAG(ZSEHAAIAIMNAAY) 38,000,000& * 1JHA 38,000
= 19,000
Al 19,000
sIIAH K& 1,473,916 1,201,825 272,091
= 64,160
= 9,600
& 2,700
Al 1,397,456
sHIHUSEH 3,120 2,400 720
= 1,560
Al 1,560
201 LetEg] 2,120 1,400 720
= 1,060
Al 1,060
01 AtS2teldl 2,120 1,400 720
O 302 XAY 2,120
O et=ZH| 2,120
sJH 800 s ulf Rl 7,680& * 250% 1,920
= 960
Al 960
sJH 8E0I82)|sus sS 100,000& = 274 200
= 100




CsEXNEDS
P SENERE sHZHHAYS

CsJAH XE

m

40
b
{0

SN EH O (S]H) - M A Atol e =32t
Al 100
301 LEtE A2 1,000 1,000 0
= 500
Al 500
10 SAIAHIEAZ 1,000 1,000 0
[0 202 XA 1,000
O sIAHsHEEI = 5,000& = 200¥ 1,000
= 500
Al 500
JIAH =2l K& 152,700 153,765 A 1,065
201 LEt2AH| 900 1,400 A500
01 AIR2t2|H| 900 1,400 A500
O et+=ZH| 900
O sJIAHNE 844 100,000& = 43| 400
O sJHLN=E M M& 1,000& * 5005 500
202 Ot 800 1,365 565
01 =Z2UWoH| 800 1,365 A\565
O s2J1H #Xord oddl 80,000& * 2H = 5 800
206 M= Hl 151,000 151,000 0
01 M=Hl 151,000 151,000 0
[ sJIH =32 83+ 151,000
O RA4RE 10,000& * 100& = 10074 100,000
O RAEE 3,000& * 505 * 3404 51,000




A sENZL

M SENCR soAMAL

=Rl SIIAH A& (chel: =3
SA-FB L SA(3) - MEAY - BLS 0 & o4 e B2
=W (BME= o x= PN da] 125,200 68,400 56,800
= 62,600
Al 62,600
405 RH&HFESHI 125,200 68,400 56,800
= 62,600
Al 62,600
01 N ESEF=HI 125,200 68,400 56,800
0 302 XA 125,200
O sgIIHNSEAHH 125,200
EUE(EE) 38,000,000& * 1CH 38,000
= 19,000
Al 19,000
EHIAZI(EHHERE) 7,800,000& = 1CH 7,800
= 3,900
Al 3,900
=4l STH I | 34,000,000& = 1CH 34,000
= 17,000
Al 17,000
SEAIED| 7,000,000& = 10K 7,000
= 3,500
Al 3,500
des+7 & HAHIIS 6,000,000& = 14l 6,000
= 3,000




A sENZL

M SENCR soAMAL

&2 sIIAH XNHA (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

Al 3,000

SS0FD| 9,800,000& = 1CH 9,800

= 4,900

Al 4,900

DA AR (=) 14,000,000& * 1CH 14,000

= 7,000

Al 7,000

=2 dED| 8,600,000& * 1CH 8,600

= 4,300

Al 4,300
AEYE SO HLU2 A 1,168,896 962,260 206,636
201 LBr2AH| 9,900 0 9,900
02 3294l 9,900 0 9,900

[0 dU=s2J1H B2 150,000& = 50CH 7,500

O &HIR XYl 300,000& = 2CH = 43| 2,400
206 XM =2 H| 60,000 40,500 19,500
01 TH=Hl 60,000 40,500 19,500

O s SUHAMEE APHEE P2 50,000 *40CH* 155 *x23] 60,000
401 AlEHI L2 625,996 513,760 112,236
01 Al&H| 612,379 503,320 109,059

O A AIE A 594,600,000 * 2.99% 17,779

O S8 sIH 28 &x A5l 600,000& * 991 » 1Al 594,600
02 Ze2ldl 9,871 7,560 2,311




A sENZL

M SENCR soAMAL

el =71 K& (e mel)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
] Zeldl 594,600,000 * 1.66% 9,871
03 Al&20iY] 3,746 2,880 866
O A& 20HbI 594,600,000& * 0.63% 3,746
405 RHabFESHI 473,000 408,000 65,000
01 XNAMLEEFSHI 473,000 408,000 65,000
[] EEH 2158 15,000,000& * 35 * 5J| 225,000
[ dEZ2E2I2 608 3,500,000& * 30& * 27| 210,000
L1 XI A X 30,000,000& * 1& = 17| 30,000
O AR &EH 2 8,000
O AI24 &D| 1,000,000& = 5% 5,000
O HEIYME 600,000& * 5=x 3,000
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